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while true do

output 0,1 |
sleep ms 1000 output : GPIOHI]
output 0,0 sleep ms : XU—-T
sleep ms 1000

end
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while true do
# fRELED
1f t32 == 0 then # I?R@LED&GU'EW ~
output 7, 0 if t == 10 then
else output 0, 1
output 7, 1 elsif t >= 20 then
end
I t=20
output 0, O
end
sleep ms 100
t += 1
end
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while true do
output 0, 1
sleep ms 1000
output 0, 0
sleep ms 1000
end
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while true do
output 7, 1
sleep ms 100
output 7, 0
Sleep;ms 100
end
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while true do
output 0,1
sleep ms 1000
output 0,0
sleep ms 1000
end
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OP JMP

OP LOADSELF
OP LOADI

OP LOADI

OP SEND

OP LOADSELF
OP LOADI

OP SEND

OP LOADSELF
OP LOADI

OP LOADI

OP SEND

OP LOADSELF
OP LOADI

OP SEND

OP LOADT

OP JMPIF

OP LOADNIL
OP STOP
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:sleep ms
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:sleep ms
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loop do
instruction = Fetch(program)
Execute(instruction)

end
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loop do
fori=1to N do
current_program = programii
instruction = Fetch(current_program)
Execute(instruction)
end
end
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loop do
fori=1toNdo
current_program = programii]
forj=1toMdo
instruction = Fetch(current_program)
Execute(instruction)
end
end
end
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loop do
fori=1to N do
current_program = programii]
start_time = GetCurrentTime()
while GetCurrentTime() < (start_time + TIME_SLICE) do
instruction = Fetch(current_program)
Execute(instruction)
end
end
end
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Result

e Execution time
— Calculate 32th Fibonacci number using recursion

Single program execution time is 1.74[s].
[S] c tion Execute two programs by concurrent execution.
xecution time (Core i5 2.0GHz, 2GB memory, Ubuntu 14.04)

4.5 4.15

4 3.72
3.48

3.601
3.5

3
2.5

single program one by one multi by multi interruptin
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Resources

e mruby

http://mruby.org/

https://github.com/mruby/mruby

e mruby/c
http://www.s-itoc.jp/

https://github.com/mrubyc/mrubyc
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